FOM 12 5.2 — Probability and Odds

Experimental Probability — Probability based purely on actual trials

Number of Times Event A Occurs
Total Number of Trials

P(4) =

Theoretical Probability — Probability that a certain outcome will occur, based on reasoning
or calculation

P(A) _ Number of Favourable Outcomes for Event A
Total Number of Qutcomes in Sample Space

Fair Game — when all options are equally likely

Example 1: If 5 red balls and 10 green balls are placed in a bag:

a} What is the probability of drawing a red ball?
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b) What are the odds of drawing a red?
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In general:
+*
Odds In Favour: The ratio of the #UFm\{g that an event will occur to the ways that it will not occur.

Odds Against: The ratio of the #—o‘FWa\ﬁ 1hat an event will not occur to theﬁw\;s that it will occur.




Example 2: From a standard 52 card deck:
a) What are the odds in favour of drawing a single card and getting an ace?
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b) What are the odds against drawing an ace, 2 or 37
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c) What is the probablllty of drawing an ace, 2 or 3?
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d) What is the probability of NOT drawing an ace, 2 or 3? \ \‘”JY
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Example 3: Research shows that the probability of an expectant mother, selected at random,
. .1 .
having twins is w = \ OUN C)‘Q %@ \'\&\'SQ, ‘\'Ld\ﬂ <

a) What are the odds in favour of an expectant mother having twins?
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b} What are the odds against an expectant mother having twins?

Example 4: A computer randomly selects a university student’s name from the university,
database to award a $100 gift certificate for the bookstore. The odds against the
selected student being male are 57:43. Determine the probability that the randomly
selected university student will be male?

E_’ 43 = ol possibiliies = 5743 = GO
e Yl so 432 od\‘ of 100 students are male
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Assignment: Pg. 310#1-5,7-9,14-16 Extension (#18, 20) OO




